MWAKICAN  FORM 3 PP2 MARKING SCHEME TERM 2 2017

1     Comprehension

NB. All the answers for question one must be written in complete sentences.

a) They have failed as role models for their children.
parents have not played their role fully in raising their children.  (Any 2 pts =2 marks)
b) 
· Poor role modeling from parents as many parents are engaging carelessly in extra-marital relationships
· Parents have not played their role of guiding them about interactions
· Children don’t understand what it means being in a relationship with the opposite sex. (1 mark each =3 marks)
c) 
· They abandon their babies in toilets or litter bins.
· It kills from within (psychological trauma). (1 mark each= 2 marks)
d) 
· attention is put on the girl and she is judged unfairly
· rejection and abuse by family, friends and community
· abandoning of babies
· lack of finances
· Stigmatization
· abortion or attempt to carry it out hence possible deaths.
*must be in continuous prose
*if in point form, deduct 50% at each point.
*penalize for grammatical mistakes by deducting a glimmer (¼mark) once per sentence.
*count maximum 50 words, ignore anything else after that		(1 mark each = 6 marks)
e) 	What is the writer’s attitude towards parenting? (2 marks)
critical attitude – he says that Society has failed and parents have not played their role fully in raising their children.
    - children lack the guidance they require when it comes to having independent social interactions. 
								( 1mark for identification, 1 mrk for illustration = 2mrks)
f) 	scot-free    -unharmed/ unpunished
stigma     -discrimination/ disgrace
consensual    -without agreement/ without consent
avenues – ways/sources				(any spelling mistakes =0)	(4 marks)
g) 	… ,doesn’t it? (if any punctuation mark missing and d is capital, =0).




2.   Excerpt The River and the Source.

a). 	Before:A telegram arrives from Aluor stating that Elizabeth’s mum (Maria) was very sick. 
Mark rushes out of his office to inform his wife at school. They decide to go at once.
After: They reach Aluor and find that Maria has been taken to a hospital at Maseno by father Thomas. Mark and the twins follow Elizabeth out. They get back to the car and head straight to hospital..  Mention and explain of before and after 2 x 2 = 4mks
b). 	-	Allusion; Kericho, Nakuru; Alluded to towns in the country which bring the reader closer 
to reality enhancing authenticity.
-	Dialogue: “…how have you failed, dear?”, “don’t keep calling me dear…”- breaks the monotony of narration, show the irrational feelings of Elizabeth (restlessness and feeling of guilt).  Any 2 styles x 2 = 4mks   Deny if no illustration
c). 	-	Odongo and Opiyo (Mark’s and Elizabeth’s sons) were sent to study there and help their 
grandmother in household chores 1mk for names + 1mk for the reason = 2mks
d). 	-	Anxious mood/mood full of anxiety- Mark and Elizabeth are worried about the state of 
Maria at Aluor. (Illustration:- Oh My God! We must go at once…)
The anxiety heightened by the silence as they travel to Aluor.  Identification illustration 	1=2mks.  Deny if not illustrated.
e)	-	Family love: They both are restless about their sick mother ‘Maria Nyabera had 
been a good mother…,’ I have failed her’ she has been visiting her mother once every month.
· Education- Elizabeth is in school when Mark delivers the sad news to her.
-	Suffering/sickness- Elizabeth’s mother is sick and everybody is worried.
Any 2 well identified and explained themes = 2 x 2 = 4mks,

f). 	-	Maria Nyabera was dead.       1 x 1mks

g) 	-	Concerned/Caring:- he runs up and down when he receives the telegram, drives (with Elizabeth) all the way to Aluor to check on and help Maria.
· Understanding- he understands Elizabeth distress and helps her with the packing. He also does not argue with her when she seems angered by the question ‘..how have you failed dear?’
· Loving – ‘…yes dear..’
Any other well illustrated trait.  Any 1 trait + illustration 1=2mks

h).	 -	Went to inform his wife of the news at school
-	Sought for permission on behalf of the wife
-	Packed a few things for her
-	Made arrangements with neighbours to collect Mary
-	Put his wife in the car and drove off.
Must be written in note form, 3points @ 1mk.    = 3mks



i). 	a)	He cautiously asked her how she had failed/ Mark cautiously asked her how she had 
failed.  1 x 1 = 1
      b)  , do you?

j). 		i) primeval			Very strong and not based on reason.
		ii) severed			broken off/separated /cut off.
		 
                                         2 x 1mk each = 2mks

3.	Poetry

a)	Nature poem
	It talks about a parrot and its habits.
            (1mk for identification, 1mk for illustration)

b)	(i)  Rhyme – cold and old. Pain and again
	It produces musicality/makes poem
	Rhythmic.
	(ii)	alliteration.
		This the

		That, thousand
		Create rhythm/memorability.
	(iii)	Repetition e.g. gets, never
		Emphasizes the need to heed to instructions.
	(iv)	Personification
		“ ............... till the sun gets up”
		It makes the poem vivid/interesting.
c)	(i)	-parrot affected by cold dies young.
	(ii)	Parrots derive satisfaction from the ability to
		Ape/copy/imitate sounds from many
		Languages.
d)	-	Loving/caring/concerned -  wants
		her children to live long and to
		be out of danger.
· Knowledgeable/intelligent – knows
		the consequences of certain
		Tendencies e.g waking up too early.
· Responsible – Advises her young ones.
(Any 2 well illustrated = (2x2) = (4mks)

e)	The idea of a parrot dreaming.- parrots don’t dream)
f)	(i)	Sleeps early
	(ii)	Eats ripe fruits (plums)
	(iii)	Can imitate/talk different languages.
             (iv)      Parrots should be good
                        (Any 3 points) x1 =(3mks	




4.  Grammar

1(i)	argument
(ii)	pronunciation
(iii)	abundance
						1 mark each x 3 = 3mks

2(i)	He outlived his wife
(ii)	The visitors arrived as early as seven o’clock
 (iii)      A truck had been played on us by the judges and the constants.
 (iv)	It was a sunny day; however, it was quite cool./It was a sunny day, however, it was quite 	cool.   1mk each x 4 = 4mks

3(i)	The dog has broken its leg.
(ii)	Jane is the smallest of the five sisters.
                                                                                                  1mk each x 2 = 2mks

4(i)	he 
(ii)	me
(iii)	I
                                                                                                1mk each x 3 = 3mks

5(i)	spell out
(ii)	 told off
(iii)	put up with

                                                                                               1mk each x 3 = 3mks
1

